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An example: impacts of bombing on military success

Policy issue:

• People fight a lot of wars

• Two distinct approaches: firepower vs. hearts-and-minds

• Which of these is more effective?

Approach:

• Look at differential bombing across regions in Vietnam

• Bombing locations aren’t random

• ...but are determined by a policy rule:

• Military algorithm with rounding

→ Use a RD model to estimate treatment effects
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Estimating the effects of overwhelming firepower

They run a version of:

Yi = τDi + f (Xi ) + εi for c − h ≤ Xi ≤ c + h

where
Yi : outcome in hamlet i i
Di = 1[Xi ≤ c] is the treatment indicator
c is a severity threshold
f (Xi ) is a flexible function of the running variable, Xi

εi is an error term
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Identification strategy
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Validity of identifying assumptions
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Validity of identifying assumptions
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Validity of identifying assumptions
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Treatment assignment
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Main results
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